
MathCity.org 
 Merging man and maths 

MCQs – Ch # 10: F.Sc Part 1 
Text Book of Algebra and Trigonometry Class XI 

Available online at http://www.mathcity.org, Version: 1.0.0 

 

Trigonometric Identities 
 

1.  Distance r of the point P(x1, y1) from the 
origin is given by the relation r = ______ ? 

 
 a) 2

1
2
1 yx +  

 b) 2
1

2
1 yx +  

 c) 11
2
1

2
1 2 yxyx ++  

 d) 2
1x  

 e) none of these 
 
2.  If Sinθ 1 = Sinθ 2 and Cosθ 1 = Cosθ 2 

then  
 

 a) 0)(
2

1
sin 21 =+θθ  

 b) 0)(
2

1
sin 21 =−θθ  

 c) 0)(
2

1
cos 21 =+θθ  

 d) 1)(
2

1
cos 12 −=−θθ  

 e) none of these 
 
3.  Distance r of the point P(1, 2) from the 

origin O(0, 0) is given by the relation r = 
___ ? 

 
a) 5 

b) 5  
c) 25 

d) 3  
e) None of these 

 
4.  =− )cos( βα  
 
 a) βαβα sinsincoscos −  
 b) βαβα sinsincoscos +  
 c) βαβα sincoscossin −  
 d) βαβα sincoscossin +  
 e) βαβα coscossinsin −  
 

 
5.  =+ )cos( βα  
 
 a) βαβα sinsincoscos −  
 b) βαβα sinsincoscos +  
 c) βαβα sincoscossin −  
 d) βαβα sincoscossin +  
 e) βαβα coscossinsin −  
 
6.  =− )sin( βα  
 
 a) βαβα sinsincoscos −  
 b) βαβα sinsincoscos +  
 c) βαβα sincoscossin −  
 d) βαβα sincoscossin +  
 e) βαβα coscossinsin −  
 
7.  =+ )sin( βα  
 
 a) βαβα sinsincoscos −  
 b) βαβα sinsincoscos +  
 c) βαβα sincoscossin −  
 d) βαβα sincoscossin +  
 e) βαβα coscossinsin −  
 
8.  =− )cos( α  
 

a) secα  
b) – sinα  
c) sinα  
d) – cosα  
e) cosα  

 
9.  =− )sin( α  
 

a)   secα  
b) – sinα  
c) sinα  
d) – cosα  
e) cosα  
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10.  =− )cot( α  
 

a) - tanα  
b) tanα  
c) cotα  
d) – cotα  
e) cosα  

 
11.  =− )tan( α  
 

a) - tanα  
b) tanα  
c) cotα  
d) – cotα  
e) cosα  

 
12.  =− )sec( α  
 

a) – cosα  
b) - secα  
c) secα  
d) cosecα  
e) - cosecα  

 
13.  =− )90cos( α�  
 

a) – cosα  
b) cosα  
c) – sinα  
d) sinα  
e) – cosecα  

 
14.  =− )90sin( α�  
 

a) tanα  
b) cosα  
c) – sinα  
d) sinα  
e) – cosecα  

 
15.  =− )90tan( α�  

a) tanα  
b) - tanα  
c) – sinα  
d) – cotα  
e) cotα  

 
16.  =− )90cot( α�  
 

a) tanα  
b) – tanα  

c) – sinα  
d) - cotα  
e) cotα  

 
17.  =− )90sec( α�  
 

a) – cosecα  
b) cosecα  
c) - secα  
d) secα  
e) cotα  

 
18.  =− )90cos( �α  
 

a) – cosecα  
b) cosecα  
c) – secα  
d) sinα  
e) cotα  

 
19.  =− )90(cos α�ec  
 

a) – cosecα  
b) cosecα  
c) – sec α  
d) secα  
e) cotα  

 
20.  =− )90sec( �α  
 

a) cosecα  
b) - secα  
c) - cotα  
d) cotα  
e) cosα  

 
21.  =− )90sin( �α  
 

a) – cosα  
b) cosecα  
c) – secα  
d) sinα  
e) cosα  

 
22.  =− )90tan( �α  
 

a) tanα  
b) – tanα  
c) – cotα  
d) cotα  
e) cosα  
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23.  =− )90(cos �αec  
 

a) cosecα  
b) – secα  
c) – cotα  
d) cotα  
e) cosα  

 

24.  =






 −απ
2

cos  

 a) cosecα  
 b) cosα  
 c) – cosα  
 d) – sinα  
 e) sinα  
 

25.  =






 − απ
2

sin  

 
a) cosecα  
b) cosα  
c) - cosα  
d) – sinα  
e) sinα  

 

26.  =






 −απ
2

cot  

a) cotα  
b) tanα  
c) – cosα  
d) – sinα  
e) sinα  

 
 

27.  =






 −απ
2

tan  

a) cotα  
b) tanα  
c) – cosα  
d) – sinα  
e) sinα  

 

28.  =






 −
2

cos
πα  

a) secα  
b) – cosα  
c) cosα  
d) – sinα  
e) sinα  

 

29.  =






 −
2

sin
πα  

a) secα  
b) – cosα  
c) cosα  
d) – sinα  
e) sinα  

 

30.  =






 −
2

tan
πα  

a) secα  
b) cotα  
c) – cotα  
d) tanα  
e) – tanα  

 

31.  =






 −
2

sec
πα  

a) secα  
b) cotα  
c) cosecα  
d) tanα  
e) – tanα  

 

32.  =






 −
2

cos
παec  

 
a) secα  
b) – secα  
c) cosecα  
d) tanα  
e) – tanα  

 
33.  =+ )90cos( �α  
 

a) – sinα  
b) sinα  
c) cosα  
d) – cosα  
e) – tanα  

 
 
34.  =+ )90sin( �α  
 

a) – sinα  
b) sinα  
c) cosα  
d) – cosα  
e) – tanα  
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35.  =+ )90cot( �α  
 

a) – sinα  
b) – cotα  
c) cotα  
d) tanα  
e) – tanα  

 
 
36.  =+ )90csc( �α  
 

a) – sinα  
b) – cscα  
c) – secα  
d) cscα  
e) secα  

 

37.  =






 + απ
2

cos  

 
a) – sinα  
b) – cscα  
c) – secα  
d) cscα  
e) secα  

 

38.  =






 + απ
2

sin  

 
a) – sinα  
b) – cscα  
c) – secα  
d) cosα  
e) secα  

 
39.  =+ )90(tan �α  

a) – sinα  
b) – cotα  
c) cotα  
d) tanα  
e) – tanα  

 
40.  =+ )90(sec �α  

a) – sinα  
b) secα  
c) – secα  
d) cscα  
e) – cscα  

 

41.  =






 +
2

sec
πα  

a) secα  
b) – cscα  
c) cotα  
d) – cotα  
e) – secα  

 
42.  =+ )(sin απ  

a) cosα  
b) – cosα  
c) – sinα  
d) sinα  
e) cotα  

 
43.  =− )(csc απ  

a) secα  
b) – secα  
c) – cscα  
d) cscα  
e) – tanα  

 
44.  =− )(cot απ  

a) sinα  
b) cotα  
c) – cotα  
d) tanα  
e) – tanα  

 

45.  =






 +
2

csc
πα  

a) secα  
b) – cscα  
c) cotα  
d) – cotα  
e) – secα  

 
46.  =− )(sin απ  

a) – cosα  
b) cosα  
c) – sinα  
d) sinα  
e) – secα  

 
47.  =− )(sec απ  

a) secα  
b) – secα  
c) – cscα  
d) cscα  
e) – tanα  
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48.  =+ )(cos απ  
 

a) cosα  
b) – cosα  
c) - sinα  
d) sinα  
e) cotα    

 
49.  =− )(tan απ  
 

a) sinα  
b) cotα  
c) – cotα  
d) tanα  
e) – tanα  

 
50.  =− )(cos απ  
 

a) – cosα  
b) cosα  
c) – sinα  
d) sinα  
e) – secα  

 

51.  =






 +
2

csc
πα  

 

a) secα  
b) – cscα  
c) cotα  
d) – cot α  
e) – secα  

 

52.  If  
αα

α
sincos1

sin2

++
=y   then   

α
αα

sin1

sincos1

+
+−

 is equal to  

 
a) 1/y 
b) Y 
c) 1 – y 
d) 1 + y 
e) None of these 

 
53.  In the triangle ABC, where C is the right 
angle,  tan A + tan B =  
  

A

B C

bc

a  

a) a + b 

b) 
ab

ba 22 +
 

c) bca /2  
d) acb /2  
e) None of these 

 
54.  ________)2( =−θπSin  
 

a) Sinθ  
b) – Sinθ  
c) Cosθ  
d) – Cosθ  
e) Tanθ  

 
55.  The value of the expression     

21 sin 1 cos sin

1 cos sin 1 cos

y y y

y y y

− −+ −
+ −

 is  

 

a) 0 
b) 1 
c) Sin y 
d) Cos y 
e) None of these 

 
56. (2 ) ______ ?Cos π θ− =  
 

a) sin θ  
b) – sinθ  
c) cosθ  
d) – cosθ  
e) tanθ  

 
57.  cot( )α β− =  

 a) 
cot cot

1 cot cot

α β
α β
−

+
 

 b) 
cot cot

1 cot cot

α β
α β
+

−
 

 c) 
cot cot 1

cot cot

α β
α β

−
+

 

 d) 
cot cot 1

cot cot

α β
α β

+
− +

 

 e) none of these  
 
58.  tan( )α β− =  
 

 a) 
tan tan

1 tan tan

α β
α β
−

+
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 b) 
tan tan

1 tan tan

α β
α β
+

−
 

 c) 
cot cot

1 cot cot

α β
α β
+

−
 

 d) 
cot cot

1 cot cot

α β
α β
−

+
 

 e) none of these 
 
59.  tan( )π α+ =  
 

a) tanα  
b) – tanα  
c) cotα  
d) – cotα  
e) secα  

 
60.  sec( )π α+ =  
 

a) tanα  
b) – cscα  
c) cscα  
d) – secα  
e) secα  

 
61.  csc( )π α+ =  
 
 a) tanα  
 b) – cscα  
 c) cscα  
 d) – secα  
 e) secα  
 
62.  tan( )α β+ =  

 a) 
tan tan

1 tan tan

α β
α β
−

+
 

 b) 
tan tan

1 tan tan

α β
α β
+

−
 

 c) 
cot cot

1 cot cot

α β
α β
+

−
 

 d) 
cot cot

1 cot cot

α β
α β
−

+
 

 e) none of these 
 
63.  cot( )α β+ =  
 

 a) 
cot cot

1 cot cot

α β
α β
−

+
 

 b) 
cot cot

1 cot cot

α β
α β
+

−
 

 c) 
cot cot 1

cot cot

α β
α β

−
+

 

 d) 
cot cot 1

cot cot

α β
α β

+
+

 

 e) none of these 
 

64.  22cos
2

α  = 
 

 

 
a) 1 + cosα  
b) 1 – cosα  
c) 1 + sinα  
d) 1 – sinα  
e) 1 – 2sin2α  

 
65.  Sinα  =  
 

 a) 21 2sin
2

α−  

 b) 22cos 1
2

α +  

 c) sin cos
2 2

α α
 

 d) 2sin cos
2 2

α α
 

 e) 21 2sin α−  
 
66.  Cosα  =  
 

 a) 2 2cos sin
2 2

α α+  

 b) 2 2cos sin
2 2

α α−  

 c) 2 2cos sinα α−  
 d) 2 2cos sinα α+  
 e) 2sinα   
 
67. Cosα = 

 a) 21 2sin
2

α−  

 b) 22cos 1
2

α +  

 c) 22cos 1α −  
 d) 22cos 1α +  
 e) 21 2sin α−  
 



MCQs – Ch # 10: F.Sc Part 1 

Written by NAUMAN IDREES (nomi255@yahoo.com)                                                              http://www.MathCity.org 

7 

68. 22sin
2

α  = 
 

 

a) 1 cosα+  
b) 1 cosα−  
c) 1 sinα+  
d) 1 sinα−  
e) 21 2sin α−  

 
69. (2 ) _______?Tan π θ− =  
 a)  Cotθ  
 b) Cotθ−  
 c) Tanθ  
 d) Tanθ−  
 e)  Cotθ−  
  
 
70.  (2 ) _______?Cos π θ+ =  
 

a) Sinθ  
b) – Sinθ  
c) Cosθ  
d) – Cosθ  
e) Cotθ  

 
71.  (2 ) _______?Tan π θ+ =  
 

a) Cotθ  
b) – Sinθ  
c) Tanθ  
d) – Tanθ  
e) – Tan θ  

72.  (2 )Sin π θ+ =  
 
 a) Sinθ  
 b) – Sinθ  
 c) Cosθ  
 d) – Cosθ  
 e) – Cosecθ  
 
73.  1 2Cos α+ =  
 

a) 2sinα  
b) 2cosα  
c) 2secα  
d) 2sin2α  
e) 2cos2α  

 
74.  Cos2α  =  
 

a) 1 + cosα  
b) 1sin2α  + 1 

c) 2cos2α  - 1  
d) 2cos2α  + 1 
e) Cos2α  - 1  

 
75.  Sin2α =  
 

a) Cos2α  - Sin2α  
b) 2Sin2α  + 1 
c) 2Sinα  Cosα  
d) Sinα  Cosα  
e) 2Cos2α  - 1  

 
76.  Cos2α  =  
 

a) cos2α  + sin2α  
b) 2sin2α + 1 
c) 2sin2α  - 1 
d) 2cos2α  + 1 
e) 2cos2α  - 1 

 
77.  Sinα  =  

 a) 
1 cos 2

2

α−±  

 b) 
1 cos 2

2

α+±  

 c) 
1 sin 2

2

α+±  

 d) 
1 sin 2

2

α−±  

 e) 
1 sec2

2

α+±  

 
78.  1 + cos4α  =  
 

a) 2cos2α  
b) 4sin2α  
c) 4cos2α  
d) 2sin22α  
e) 2cos22α  

 
79.  1 – cos4α  =  
 

a) 2cos2α  
b) 4sin2α  
c) 4cos2α   
d) 2sin22α  
e) 2cos22α  
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80.  Cosα  =  
 

 a) 
1 cos 2

2

α−±  

 b) 
1 cos 2

2

α+±  

 c) 
1 sin 2

2

α+±  

 d) 
1 sin 2

2

α−±  

 e) 
1 sec2

2

α+±  

 
81.  1 – cos3α  =  

 a) 2 3
2cos

2

α 
 
 

 

 b) 2 3
2sin

2

α 
 
 

 

 c) 23 3
cos

2 2

α 
 
 

 

 d) 22sin 2α  
 e) 22cos 3α  
 
82. 1 cos6α+ =  
 a) 23sin α  
 b) 22sin 3α  
 c) 23sin 3α  
 d) 22sin 2α  
 e) 22cos 3α  
 
83. 1 cos5α− =  

 a) 2 5
2cos

2

α 
 
 

 

 b) 2 5
2sin

2

α 
 
 

 

 c) 25 3
cos

2 2

α 
 
 

 

 d) 22sin 2α  
 e) 22cos 3α  
 
84. 1 cos5α+ =  

 a) 2 5
2cos

2

α 
 
 

 

 b) 2 5
2sin

2

α 
 
 

 

 c) 25 3
cos

2 2

α 
 
 

 

 d) 22sin 2α  
 e) 22cos 3α  
 
85. 1 cos3α+ =  

 a) 2 3
2cos

2

α 
 
 

 

 b) 2 3
sin

2

α 
 
 

 

 c) 23 3
cos

2 2

α 
 
 

 

 d) 22sin 2α  
 e) 22cos 3α  
 
 
86. tan 2α =  

 a) 
22 tan

1 tan

α
α−

 

 b) 
2

2 tan

1 tan

α
α−

 

 c) 
2

2 tan

1 tan

α
α−

 

 d) 
2

2cot

1 cot

α
α+

 

 e) 
2

2cot

1 cot

α
α−

 

 
87. tan 4α =  

 a) 
24 tan

1 tan

α
α−

 

 b) 
2

2 tan 2

1 tan 2

α
α+

 

 c) 
2

2 tan 2

1 tan 2

α
α−

 

 d) 
2

4 tan 2

1 tan 2

α
α−

 

 e) 
2

4 tan 2

1 tan 2

α
α+

 

 
88. cos3α =  
 a) 34cos 3cosα α−  
 b) 33cos 4cosα α−  
 c) 33sin 4sinα α−  
 d) 34sin 3sinα α−  
 e) 3cosα  
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89. sin 3α =  
a) 34cos cosα α−  

 b) 33cos 4cosα α−  
 c) 33sin 4sinα α−  
 d) 34sin 3sinα α−  
 e) 3cosα  
 

90. tan 3α =  

a) 
3

2

3tan tan

1 3tan

α α
α

−
−

 

 b) 
3

2

3tan tan

1 3tan

α α
α

+
−

 

 c) 
3

2

3tan tan

1 3tan

α α
α

−
+

 

 d) 
3

2

3cot cot

1 3cot

α α
α

−
−

 

 e) 3 tanα  
 

91. sin 2α =  

 a) 
2

2

1 tan

1 tan

α
α

+
−

 

 b) 
2

2 tan

1 tan

α
α−

 

 c) 
2

2

1 tan

1 tan

α
α

+
−

 

 d) 
2

2 tan

1 tan

α
α+

 

 e) 2sinα  
 

92. cos12α  
a) 33cos 4cos 4α α−  

 b) 34cos 4 3cos 4α α−  
 c) 33sin 4 4sin 4α α−  
 d) 34sin 4 3sin 4α α−  
 e) 12cosα  
 

93. sin9α  
a) 34cos 3cosα α−  

 b) 33cos 3 4cos3α α−  
 c) 33sin 3 4sin 3α α−  
 d) 34sin 3 3sin 3α α−  
 e) 9cosα  
 

94. cos9α  
a) 34cos 3cos3α α−  

 b) 33cos 3 4cos3α α−  
 c) 33sin 3 4sin 3α α−  
 d) 34sin 3 3sin 3α α−  
 e) 9cosα  

 
95. 2cosα cosβ = 

a) cos( ) cos( )α β α β+ + −  
 b) cos( ) cos( )α β α β+ − −  
 c) sin( ) sin( )α β α β+ + −  
 d) sin( ) sin( )α β α β+ − −  
 e) None of these 
 
96. cos2α  = 

a) 
2

2

1 tan

1 tan

α
α

+
−

 

 b) 
2

2 tan

1 tan

α
α−

 

 c) 
2

2

1 tan

1 tan

α
α

−
+

 

 d) 
2

2 tan

1 tan

α
α+

 

 e) 2sinα  
 
97. cos2α  = 

a) cos( ) cos( )α β α β+ + −  
 b) cos( ) cos( )α β α β+ − −  
 c) sin( ) sin( )α β α β+ + −  
 d) sin( ) sin( )α β α β+ − −  
 e) None of these 
 
98. 2cosα  sinβ = 

a) cos( ) cos( )α β α β+ + −  
 b) cos( ) cos( )α β α β+ − −  
 c) sin( ) sin( )α β α β+ + −  
 d) sin( ) sin( )α β α β+ − −  
 e) None of these 
 
99. 2sinα  sinβ  = 

a) cos( ) cos( )α β α β+ + −  
 b) cos( ) cos( )α β α β− − +  
 c) sin( ) sin( )α β α β+ + −  
 d) sin( ) sin( )α β α β+ − −  
 e) None of these 
 
100. cos cosθ φ− =  

 a) 2sin sin
2 2

θ φ θ φ+ −−  

 b) 2sin sin
2 2

θ φ θ φ+ −
 

 c) 2sin cos
2 2

θ φ θ φ+ −
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 d) 2cos cos
2 2

θ φ θ φ+ −
 

 e) None of these 
 
101.  sin sinθ φ+ =  
 

 a) 2sin sin
2 2

θ φ θ φ+ −−  

 b) 2sin sin
2 2

θ φ θ φ+ −
 

 c) 2sin cos
2 2

θ φ θ φ+ −
 

 d) 2cos cos
2 2

θ φ θ φ+ −
 

 e) None of these 
 
102.  sin sinθ φ− =  
 

 a) 2sin sin
2 2

θ φ θ φ+ −−  

 b) 2sin sin
2 2

θ φ θ φ+ −
 

 c) 2sin cos
2 2

θ φ θ φ+ −
 

 d) 2cos cos
2 2

θ φ θ φ+ −
 

 e) None of these 
 

103.  cos
12

π =  

 

 a) 
3 1

2 2

−
 

 b) 
3 1

2 2

+
 

 c) 
3 1

2

+
 

 d) 
3 1

2

−
 

 e) 1 
 
104.  Cos315o =  
 

 a) 
1

2
 

 b) 
1

2
−  

 c) 
3

2
 

 d) 
3

2
−  

 e) 0 
 
105.  Cos540o =  
  

a) 
1

2
 

 b) 
1

2
−  

 c) 
3

2
 

 d) 
3

2
−  

 e) – 1  
 
106.  Tan (- 135o) = 
 

 a) 
1

2
 

 b) 
1

2
−  

 c) 
3

2
 

 d) 1 
 e) 0 
 
107.  sec(- 300o) =  

a) 4 
b) 3 
c) 2 
d) 1 
e) 0 

 
108.  cot (- 855o) =  

a) 2 
b) 1 
c) – 1  
d) 0 
e) – 2  

 
109.  sec(- 960o) =  
 

a) 2 
b) 1 
c) – 1  
d) 0 
e) – 2  
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110.  sin (- 780o) =  
 

 a) 
3

2
−  

 b) 
3

2
 

 c) 
2

3
 

 d) 0 
 e) 1 
 
111.  cos 254o =  
 

a) – cos33o 
b) Cos5o 
c) Cos16o 
d) Sin16o 
e) – sin16o 

 
 
112.  cos (-435o) =  
 

a) cos15o 
b) – cos15o 
c) – sin15o 
d) Sin15o 
e) Sin25o 

 
113.  sin( ).cos( )α β α β+ − =  
 
 a) sin sinα β−  
 b) sin sinα β+  

 c) 2 2sin sinα β−  

 d) 2 2sin sin 1α β− +  
 e) 0 
 
114.  sin( ).sin( )α β α β+ − =  
 
 a) sin sinα β−  
 b) sin sinα β+  

 c) 2 2sin sinα β−  

 d) 2 2cos cosβ α−  
 e) 0 
 
115.  sin(45 )α+ =�  
 
 a) sin cosα α+  

 b) sin cosα α−  

 c) 
1

(sin cos )
2

α α+  

 d) 
1

(sin cos )
2

α α−  

 e) sinα  
 
 
116. tan(180o + )θ =  
 a) cotθ  
 b) tanθ  
 c) sinθ  
 d) tanθ−  
 e) cosθ−  
 
117. cos( ).cos( )α β α β+ − =  
 a) cot 2α  
 b) 2 2cos cosα β−  
 c) sin 2α  
 d) tan 2α  
 e) None of these 
 
 

118. 
tan tan

tan tan

α β
α β

+
−

 

 a) 
cos( )

cos( )

α β
α β

+
−

 

 b) 
cos( )

cos( )

α β
α β

−
+

 

 c) 
sin( )

sin( )

α β
α β

−
+

 

 d) 
sin( )

sin( )

α β
α β

+
−

 

 e) tanα−  
 
119. cos4θ  =  
 

 a) [ ]1
3 4cos 2 2cos 4

8
θ θ− +  

 b) [ ]1
3 4cos 2 2cos 4

8
θ θ+ +  

 c) 4sin3θ  cosθ  
 d) – 4cosn3θ  sinθ  
 e) none of these 
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120.  
1 sin

1 sin

α
α

+ =
−

 

 

 a) 
tan cos

2 2

tan cos
2 2

α α

α α

+

−
 

 b) 
sin cos

2 2

sin cos
2 2

α α

α α

−

+
 

 c) 
sin cos

2 2

sin cos
2 2

α α

α α

+

−
 

 d) 
tan cos

2 2

tan cos
2 2

α α

α α

−

+
 

 e) 4cos 4α  
 

121.  
sin 3 cos3

cos sin

θ θ
θ θ

+ =  

 
a) sinθ  
b) 2cot2θ  
c) cosθ  
d) – secθ  
e) secθ  

 
122.  2sin 3θ  cosθ  =  
 

a) cot4θ  + cot 2θ  
b) cos4θ  + cos2θ  
c) cos4θ  - cos2θ  
d) sin4θ  - sin2 θ  
e) sin4θ  + sin2θ  

 
123.  sin5θ  + sin3θ  =  
 

a) 2cos2θ  sinθ  
b) – 2cos4θ  sinθ  
c) – 2sin4θ  cosθ  
d) 2cos4θ  sinθ  
e) 2sin4θ  cosθ  

 
124.  2sin12o sin46o =  
 

a) cos34o cos58o 
b) sin34o + sin58o 

c) sin34o – sin58o 
d) cos34o + cos58o 
e) cos34o – cos58o 

 

125.  
cos cos3

sin 3 sin

x x

x x

− =
−

 

 
a) cot2x 
b) tan2x 
c) csc2x 
d) sec2x 
e) cos2x 

 
 
 
 
 
126.  csc( )α− =  
 

a) - cosα  
b) – secα  
c) secα  
d) cscα  
e) – cscα  

 
127.  cot (α  - 90o) =  
 

a) tanα  
b) – tanα  
c) – cotα  
d) cotα  
e) cosα  

 

128.  csc
2

π α − = 
 

 

 
a) – cscα  
b) cscα  
c) – secα  
d) secα  
e) cotα  

 

129.  tan
2

πα + = 
 

 

 
a) tanα  
b) – tanα  
c) cotα  
d) – cotα  
e) secα  
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130.  cot
2

πα + = 
 

 

 
a) tanα  
b) – tanα  
c) cotα  
d) – cotα  
e) secα  

 
131.  cosα  =  

 a) 21 2sin
2

α−  

 b) 22cos 1
2

α +  

 c) 2cos2α  - 1 
 d) 2cos2α  + 1 
 e) 1 – 2sin2α  
 
132.  1 – cos2α  =  
 

a) 2sinα  
b) 2cosα  
c) 2secα  

d) 2sin2α  
e) 2cos2α  

 
133.  1 – cos6α  =  
 

a) 3sin2α  
b) 2sin23α  
c) 3sin23α  
d) 2sin22α  
e) 2cos23α  

 
134.  cos cosθ φ+ =  
 

 a) 2sin sin
2 2

θ φ θ φ+ −−  

 b) 2sin sin
2 2

θ φ θ φ+ −
 

 c) 2sin cos
2 2

θ φ θ φ+ −
 

 d) 2cos cos
2 2

θ φ θ φ+ −
 

 e) none of these 
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